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Directions:
In :iua;l;inns 1 ta 10, there are series

with one term missing which is shown by -
{?)- Missing term is one of the four terms

glven below it. Find this term.

1. 3,11,19,27, 7,43 51

1, 139 i 3 e

2. 0,6, 24,7,120, 210, 336

1. 120 LT i

3. 13,324, 46, T , 123, 178
1. 56 T i

4. 224, 335, 446, 557, 7 , 779, 8810
o 11 it e P R |

5. 5 7. 11,13, 17,19, 7
. SghEd oF ggiemerik N

6. 1,10,7,100,1001, 1000, 10001

IR (1) R e Ly

7. 4,23,60,7,212, 339

1. 8¢ 2. 65
8. DMP, FLN, HKL, 113, 7 _ :

1. MIF. 2%l 3,
9, 1,3,10,21,7, 129, 388

1. b4 2. 32 3.5
10. 3, 3,5 6 78,411,472, 13

Tl 8 3.
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Directions:

In questions 11 to 20, there is a question
mark (#) In blank space in which only
one of the four alternatives given under
the question satisfies the same
relationship as is found between two
kerms on the sither side of the sign ( : @ )
given In the guestion.

11, Chair : Carpenter:: T : Engineer
1. Radio 2, Book 3.

12. CBT:DEY:: ¢ : QL
1. BIG 2, MRG 1.

13. 563 - 293 :: 488 : ?
1. 299 2s 378 3.

14. ABC : FED :: GHl : ?
1. LIK 2. MNS 3.

15, Fish : Bird :: ? : Aeroplane

B SR R o Bt L p
1. 18 L I3 3.

aidy Ja S S b 0 S B
1. 712 2. 14 3

18. Ermor : Blunder = = ?

1|- F.I:IILI'EI'I a H.'l:ﬂ:k .
3. Crime : Sin 4.

19. Rock Garden : Chandigarh : : 7

1. Eiffel Tower : France r

3. Mona Lisa : China 4,
20. Chef:Food:: ?

1. Demand : Supply .

-[ Producer : Designer 4,

& 5 =

www.TrbTnpsc.com
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Mechanic 4. Bridge

KF 4. NDA
287 4. 581
LKJ 4. POR

22 4 13

India : Delhi
Australka : Kremiin

Art ; Writer
Editor .| Newspaper
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Directions:

In questions 21 to 25, letters/numbers
series are given and SOme
latters/numbers are missing. The missing
letters/numbers are given in the proper
sequence as one of the allematives
among the four given under each
question. Find the comrect altemative in
each case.

21, a_ca_bec _bec_b ca

1. abca 2.

22. ab_cc_de_ff_qh
1. bdeg 2.

23, aa_be_dda_bbc_dd
1. aaba 2.

24, XX _YX_XX_XX_XXY
1. yy»x T

25,12 12,412 4512 -856
by AN 2.

Directions:
In questions 26 to 30, there are nine

cells in each square. For each gquestion,
there is A different rule acmording o
which eight of the cells have been filled
and one left empty. There s a question
mark (7) In the empty cell. Find out from
the four altematives the one which
correctly fills In the empty cell in the

square after understanding the rule
applied,
26.

80 7 | 91

13 | 135 ]| T2

6d | 70 | 75

beab 3.

eebg 3.

bcac 3.

YYYy 3

1243 3.

www. TrbTnpsc.com a
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babc 4.  bbaa
bdad 4, dbca
bbab 4, aabb
OO0 4, XY
1234 4. 53333
T
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23110 4

28,

117 | 140 | 165
192 1 211

3C | 27D | 9E
71 | 21K | 3M

30

148 | 19K | 126
s2s| 1 | 72F
it | 5™ | 6G

Directions:

In questions 31 to 40, there are four
groups of letters in each. Three of these
groups are alke in some way while one is
different. Find the one which is different.

31.
1. Bag 2. Diary

32.
1. Gold 2. Copper

www. TrbTnpsc.com r's
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248
252
261
271

R ey

24]
3oc
28H
™

Bow N

BSN
0L
5L

L

P

WY 31-a40 # uAw WeE A wed
o AR WHE E | emit & e e
TEp # et = Bl wew o
wEEm R oomRs e B RO o3&

gE |

3. Notebook 4, Paper

3. Silver 4, Carbon
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33,

1. Heart 2. Ear 3. Kidney 4, Eye
34,

1. January 2. February 3. July 4. May
35.

1. ABCD 2. UNWX 3. GHIK 4, MNOP
36.

1. 10 2. Al F.—~15 4, 16
37,

1. Rat 2. Snake 3. Rabbit 4, Cat
38.

1. Moon 2. Earth 3. Venus 4. Jupiter
3q

1. MNagzland 2. Siklim 3. HManipur 4. Kohima
44,

1. Sailing 2. Driving 3. Diving 4, Fishing
Directions: R -

In questions 41 to 45, replace the W% TEm 41 W a5 F uEm WS
guestion mark (?) with a suitable number & #if By oo frmedt & @ S

given below in each guestion. gemr wge fem (7)) @ wmm@E W
Tt
4],
() (1) (s)
(19) i3 (29)
(aYo=1g) =0 (s)==st)

1. 41 2. 45 3. 47 4, 31

v pesmEEmRttp//www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



' www.Padasalai.Net www.TrbTnpsc.com (-3
42.
<E—1. ! I4> <EH IE> 88 T
j 12 0 i1
1. 25 7 A | 3. 24 4, 16
43.
i 3 g8 | 10 ? E 1
| 6 | 56 | 90 20 i 0
1 i i
154255 A Tl 4. 7
4z, g
& & g
5 | 65 5 93 3 7 7 6
¥ 15 g
1. B85 2. B9 SR 4, 19
45,
3 [ 2
4 | 12 5 1B 2 5 7 2
2 3 i
PEEEI R 2. 14 2t tyakal 4, 16
Directions: it o

In questions 46 to 50, there are three
drdes with four numbers autside them.

In the first two circles a number have
been filled according to a rule. In third
circle, the question mark ¢ is given. The
number which fits in the blank space is
given as one of the alternative below.

Find the cormect answer.

WIS el A6 & 50 & AW gw Re
oz ¥ et ame o S forsh
B ¥ uESl &1 T @ & mn Ao
Prramee it okt %) fteme go &
(7) oM E3M 21 JH o9 H I
= W foe g @@ Sme St
ues & Hy Ry oo Ressmt & &
st |
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46. 0 4 25
1515 315.4 Ed@u-ﬁ
36 49 36
e o 4. 19 3. 23 4. 25
7t 11 27 39
70 @ 30 11 34 46 @ 34
a8 -] 23
1 18 2 17 F - AS 4. 12
48,
4 8 9
AR TS
by S ""~
B 5 3
1. 27 20 23 3. 24 4. 258
49,
1 & 3
2 5 5
1. 80 2. 100 3. 120 4. 140
S0.
&7 57 39
'55@ 56 E4®4ﬁ 35@53
76 75 93
1. 22 2. Bl 3. 44 4. 55
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Directions:

In gquestions 51 to 55, you are gnven
five figures marked A, B, C, D, E called
the Problem Figures followed by
other figures marked 1, 2, 3, 4 called
the Answer Figures. Select a figure
from amongst the Answer Figures,
which will continue the same series as
established by the Problem Figures.

Problem Figure (8=wow=s =rgiral §

www.TrbTnpsc.com 4.

fadar -

ues & s51 H 55 H A B CDE
Al B 3l Ul wEEeE
Sl SE 1,2,3,.4 IRt @ i
arz  wawaE smERET @t o E
TFEENS it & o e et smephy
gim ot TR MR g w
IHH T R wener wwdt ®

Answer Flaure | =amoma wmgpiat |

o1, ? B
52.
e
A B
. - » o+ =
R
C "5 € 5]
A8 $0Rss B Sund 2 3 :
ok, | '|' ._"I....h. : == N0 f T T i_ !
R a9 im 2 alg YAl A 7
L_ .-;_-.Ilj LL:i i 1 ____,_i'“.- ,[:_‘:', ﬁ: |
= E g:E | A L S =0 |
A d + ) . 1 :
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Directicns:

In questions 56 to 60, you are given
four figures marked A, B, C, D calied the
Problem Figures followed by other
figures marked 1, 2, 3, 4 called the
Answer Figures. There 5 & definite
relationship between A and B. Establish
a similar relationship between figures C
and D by choosing 2 suitable figure D
from the Answer Figures.

Problem Figure (matensres smgfva? )

 LELETE
B NER
- (L
ol
Res

A
i3l
=D - R e oS

www. TrbTnpsc.com L

et -

¥Fa dEn s6 AN &0 A ABCD
WH W SReT W SRS
=wgivel & sir v A 1, 2,
3, 4 3w #? wfEmr TS
angfad E1 A 3 B & Bftan
Traa: ¥ FEwm e #A 3

Us wft angiy gwd g C sl D
# o oft T e oS

Anvwer Fizgure | zewess gt )

\AA /7
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In questions &1 o 65, you are given a

combination of letters followed by four

alternatives 1, 2, 3 and 4. Choose the

alternative  which most dosely

resembles the mirror-image of the

gihven combination.

b1,

B2.

B3.

64,

a5,

"

FIXING
1. GNIXIF
3. DMIXIF

CHEAPER
1. dH9VIH>

3. A39ATHO

JUDGEMENT
1. TNEMEGDU)J
4. TMiEMd3odul

QUANTITATIVE

www.TrbTnpsc.com 10.

e

UEs HEl 61 H o8 A Ul oo
TEE EEm IEm & TeEeEs 1. 2.0 A, 4
=T oA IRET Fresa BED =m
TEcal @ A en Remew gfm o
Be s ovimep @i mirror-image
B

2. OMMIXIA
4. wNIXIF
z. AdPAdHD

4. AI9AIHC

2. THUIMIGaul
4. WUgoamMIvnT

1. ONVUIIIVLIAE 2. EVITATITNAUQ
3. QUAMTITATIVE 4. IVITATITUAUQ

REASONING
1. YEY2ONIND
3. GNINOSAER

¥ DESRMTIRNCUT
http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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Directions:

In gquestions 66 to 70, you are given a
combination of letters followed by four
altermatives 1, 2, 3 and 4. Choose the
alternative which most closely resembles

the water-image of the given

combination.
66. DISCARD
1. DRACSID
3. DIZCAED
67. SNACK
T.-2NVIK
3. SNYCK
ol AFGANISTANM
1. YeavUuIZIVIA
3. YIevWi2lAKM
B T3P2Y5
17~ 13b3Xkp
3. JEBSAD
Fi.
DeZ7F4
1. DeZAr+
3. DEXAR+

www.TrbTnpsc.com 7]

Ferefar -

Ues] HEST s = TO H AWl Om
HHE Eam o & Bl 1, 2, 3, 4
=T A MTEET Beseg ®1 = fenodt
@ F i Frper g o RBe osw
mofzrs @it water-image &)

DEYCEID
DieC¥YHD

e YO
eV CK

VEDVYNISIYN
YECYWIZ2LIVH

13IBSAS
LEBSAS

2. QesSid+
4 0Jex/d4
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Directions.
in questions 71 to 75, choose the
correct mirror-image of the hAgure (X)
from amongst the four given along with

it.

www.TrbTnpsc.com A&
lw -

wedt H=m 71 & 75 A Ry aw ww
frsedt # @ fran Bessu giEw o &

ard =gy (X) 2@ mirror-image £

71. i
i

7. 0O x x O {:}

| [adedas

73. RVEUE R ;

L2V RIINI I I

Y RS
(X} 1 2 3 4

el lelelals
(X} 1 2 3 4
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Directions: In questions 76 to 80, four positions of a8 dice are shown. Carefully read the
stabterment of each gueskion and find the correct altemative in each case,

Fvfer: wem wmmm 763 ep & = (dice) @ mre remw o o B v o emmm F oRv ot m
INT TR urer % S Rv oom fFeedt #§ § oot

VOO

Which Number is on the face apposite to 67

1. & P 3.3 4. 4
Which Mumber is on the face opposite to 27

j R 2. 4 3. 5§ 4, B

78,

Which Mumber is on the face opposite tg 37

RRS A

Which Number is on the face opposite to 67

o= Lo 4 £ et 4, 5
Which Mumber is on the face opposite to 47

1. 1 Al i 4 4, B

* pemmsiour http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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Directions:

In questions 81 to 85, choose the
correct water-image of the figure (x)
from amongst the four alternatives

given along with it.

www.TrbTnpsc.com

order
WS HaT &

14,

I as H RBPp wg we

Frmerdt & & O Torsew 9w @ &Y
s sl (x) =5t water-imaoge Zr

Bi.
¥ &
o/
1 2 3 4
82. Ve
(X) 'y
1 2 3 4
83. =] =
EII':I = |
(X)
m m S B m_ 1 B - o
Lot as L (=] =] = =
1 2 3 4
34- -
£x)
1 (e T | TR e P I P o s TH
1 P! 3 4
85. R
:u.f_‘___-!- J
(%)
s i BN B
1 2 3 e
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Directions: ferar:

In gquestions 86 to 90, four figures are uesl H, B6 B/ 90 F W phai

given. Three figures are similar in some @ ok F owt B fier smpfeei Foit

specific way while one figure is different = Rl IR 3 sw=eg F, wafls o

from others. Find which figure Is Sl =S gt & e B AR

different. e o Roedi & & B smghy
are fimmeg =5 umene =S

BE. r 1
i e \ 8
i o
| A lliJ |

1 2 3 4
w e R

1 2 g | 4
e

1 2 i 4
CDId i DIED

1 2 3 4
XX

1 2 3 4

= peEmmaitsar http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



11
12
13
14
15
16
17

15
L

20

21
22

23
24

Sl
2? ....

28

29

a0

= R s & W B

www.Padasalai.Meiswer Key

www.TrbTnpsc.com

STSE / NMMS Scheme Examination - 2009

S5AT " SAT AT

e 1o 3 e 2
3 32 2 s 3
4 33 4 63 3
1 SR Gt a
2 35 1 65 4
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3 a0 2 FOi 1
3 a1 4 T 4
L e 3 72 1
4 a3 1 73 2
3 44 25 74 1
2 45 2 73 3
2 a6 3 76 S
1 47 1 T
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2 R TR
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1.  An impodiepddaddmgsiern of the 1. %.Tﬁnps@ﬁm ST

peninsula which tried to conguer a TJoaw  foes @ion HTE Uw
part of the Ganga valley was the: el oiHTe Tl Ehiarar @i -
1. <Chola 1. oA
2. Rashtrakuta 2. IR
3. Chalukya 3. ‘“ﬂ;.“ﬂ
4, Pandyas 4. WA
2. Whao succeeded Humayun ? 2. EHAR, 1 Icaaiemdl wrE
1. Shah Jahan -?T 5
2.  Jahangir z.i E E_EEI
Sre S 3. IFEEE
4,  Aurangzeb o b

3. Who wrote CAin-i-Akbari® and 3. ‘MTgS-3rEad AT armETeTAT

1. Todar Mal ;
2. Kalhan S
3. Akbar :
4. AgE e
4 Abul Fazal .

4. In which state are the temple towns 4. ¥y o witfigen iy Fgws
~  Kanchipuram and  Madural s per # Rerr ¥ 2

1. ofrereng
Situated? .
1, Tamil Nadu 5. 3G wEw
2. Kartnataka 4. AT
3. Andhra Pradesh
4 Orissa

5. In which state is the Jagannatha s. ‘orrene #f2T’ frg wier &

temple situated ? frerr & 7

1. Blhar 12 LT

2. Jharkhand =8

3, Chattlsgarh j EE;“E' B
4, Orissa ;

6. Which of the following is the classical 6. Preafaia & & @=e =
dance of Kerala ? enr=fta I B oo R

1. el
1. Kuchipudi ok —
2 Ehamtartatyarn a. MR
3. Kathakali 4. SNE
4. Odissi

BESAM 05 0T http://www.trbtn psc.com/2014/02/nmms-exam-study-mgte rials.html



7. Inwhichyear-digdladiveShah invade 7. =TRITMHWF b #AEE.cHE  STHHI
=7 e | e

India ?
1. 1739
Lo 1739 Pt W - -
& 1723 3. 1719
3. 1715 . 1743
4 1743
8. Who was the first Governor General 8. ﬂﬁﬂﬁﬁ B UAH  TEEE oI
1% oy
of India ? y
1. Canning 5 R
2. Wellesley 5 £
3. Curzon 4, #REo=
4 Hastings

9,  What was cultivation on planters own 9. TR Grer armElt s o i

Ll ERAT &m
land r:aueq ? ey Ll LR UG,
1. Ryoti SR
2. M G
3. Bigha 4 WESA
4,  Mahal

10, Who was proclaimed as emperor of 10.18587 o figdls @ s #

India at the advert of the Revolt of B it e
1857 % |, wHoE o

1. Mangal Pandey 2. TN TR

2. Nana Sahib 3, o=m AN

i, Tantya Tope 4, WEIEE G W

4,  Bahadur Shah Zafar

11, What Is Gulfaroshan? 11, JETTELTTE w7
1. Festival of lights 1. st @ e
2. Festival of colours 2. Wit W R
3. A festival of flowers 3. agEt @ wET
4, Festival of food 4. WG W TER
12, Who established ‘Shantiniketan’ ? 1 2, erifaferteem =1 ==moen fems
1. Rabindranath Tagore “lﬁ et ? .
2. Mahatma Gandhi 2' et
3. Jawsahar Lal Nehru R
4 Swami Vivekananda -

DESAMOSCUT http://www.trbtnpsc.com/2014/02/nimms-exam-study-materials.html



13. Whu TUNABa RS ResAlRa; 2
Raja Ram Mohan Roy
2. Ishwarchandra Vidyasagar
3.  Veera Slingam
4. Swami Dayanand Saraswati
14. In which year Planning Commission
was set up to help design and
execute suitable policdes for economic
development?
1. 1947
2. 1960
3. 195D
4. 1549
15. Hemis in Ladakh Is a famous:
1, Mosque
2. Temple
3. Chunch
4 Monastery
16, What is Kimberley famous for 2
1. Gold
2, Diamonds
3,  Sliver
4. Platinum
17.  Deodars and firs are a type of:
1. Coniferous tree
2.  Deciduous trees
3. Shrubs
4. Tidal forests vegetation
18. Where are Steppe grassland found ?
1. America
2. Australia
3. Russia
4,  Sputh Africa
DESEMTRICUT

13, o VN D BEPSCEAR T e
2t 7 .

1. ol AAFaad Tq
2. ZEradg Premame
3. #ta =fdow

4. TOHT AT FHIEEAT

At == ¥ 3= o wer
# B =9 Soew smer o
TaTgen s we # e
1. 1o947F -
2. 1960
3. 1950
4. 1949
15. 0981 & 2Rt T uih=
1. il 5
2. HRET
3. o=

4. Ha 75

15.%?&%%1}@3??
=T

1-

2. @
3. it
4.  THiCaH

17.99817 4 5T fe® v & 7
1. eiEETEr ge
2, Gofgredt ey
3. &u
4, HIEF T=

1 8. Ul OIS HEl UIT G B9
1. afrdesr .

2. ETEEierEm
3. =H
4. afémr s

http://www.trbtnpsc.com/2014/025mms-exam-study-materials.html



19,

20.

21,

22.

23,

24.

DESE

The rythLPASESHAENENI of ocean
water twice in a day is called:

Water Cyde

Tide

Ocean current

Wave

o I

Which is the largest lake in the
world ?

1. Lake Superior

2. Lake Victoria

3. Caspian Sea

4, Mediterranean sea

Which of the following layers of the

atmosphere is free from clouds?
1. Mesosphere
2. Stratosphere

3. Troposphere
4, Thermosphere

Which is not an erosional feature of
563 waves?

1. Seacaves
2, (Cliffs

3. Sea arches
4. Beaches

Which one of the following methods
is most appropriate to check soil

erosion on steep slopes?
1. Temrace cultivation
2. Mulching

3.  Shelter belts

4. Intercropping

Which one of the following is not a
factor of soil formation?

1. Time

2.  Soil texture

3, Organic matter

4, Parent Rock

| o HETHEOM Y. T neet.cdier S EY
=7 AT W 3T HUL TdH=T A=
=t =17 I 3I9Lar =M SEsarer

=7

1. o TG

2.  TIE #HIT

3. HEEAWRE =
4. TIGL

20 foen off Fremeow =ite = =t
27

1. i gl

b
3. @fXaTs JTE
dl.

22. 9 & zi%'lr%—%ﬁr werETTa
mﬁm’m R REEE 90 AOEEH
&+ IO TEr meredt P

V. EEE e
2. M=
3. HE AEaE

&7

1. afterpia
2. HA@fEH

3. I&TE Foe
4. fofim weeh

24 FremfafEa # & @E-31 EE
Fer Rrafor m= wdlt B2
T

i -

2. HE @ WA
3. orm gered
4., T oret
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25.  WhichWaiaPasfasei@l. Nedlowing is a
leading producer of Copper in the
world?

1. Bolivia

2. Ghana

3. Chile

4, Zimbabwe

26, Which one of the following is not a

producer of Mica?

1. Kamataka

2.  Jharkhand

3. Rajasthan

4,  Andhra Pradesh

27. Which of the following crop is not of

indian origin?

1. Wheat

2. Sugarcane
3. Tes

4, Mango

28. Which country is the Leading producer

of Coffee ?

1. 5r Lanka
2. Russia
3. India

4,  Brazl

29, Bhadravati is located in:
1,  Tamil Nadu
2.  Andhra Pradesh
3. Orissa
4, Karmataka

30, Who was the Chairman of the Drafting
Committee of the Constituent
Assembly?

1. Dr. B. R. Ambedkar

2.  Pt. Jawahar Lal Nehru

3. Dr. Rajinder Prasad

4, K. M. Munshi
DESEMTSITUT

25.

26

2%,

a0,

e TR Triyscaiey e =
oiar @ 3ol 3TaeE B

RIS r 3t
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31, Which arfiv glegiRsdindidet Constitution

32.

34,

abolishes untouchability?
1. Article 15
2. Artide 16
3, Aricle 17
4,  Artide 1B

What is the tenure of each member

of the Rajya Sabha?
1. 5years
2. Gyears
3. 3years
4. 4 years

Who is the presiding officer of the

Rajya Sabha?

1. Speaker

2. Prime Minister
3. President

4,  Vice President

While appointing the Judges of the
Supreme Court it is obligatory for the
President to consult the:

1.  Parliament

2. Law Minister

3. Prime Minister

4,  Chief Justice of India

35. Which of the following right alms at

S T

making India a Secular State:

1. Right to Freedom of Religion
2. Right to Equality

3. Right to Education

4.  Right to Freedom

e

33.

A4,

35.

# armgemen marer B 2 am
wEt I B P

1, 3EdER 15

2. O 16

3., SEAENE 17

4, ST 18

1 5 ATHA
2 6 ey
3 3 IME
4. 4
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36.

37,

Which wiitl/ i€ FaesedeirNahegar?

1. (Citric add

2. Formic acid

3. Lactic acid

4,  Acetic acid

Which gas is present in lime water?

1. Ammonium hydroxide
2.  Sodium hydroxide
3. Calcium hydroxide

4, Magnesium hydroxide

38. Excessive use of chemical fertilizers
make the soil ;
1. acddic
2. basic
3. neutral
4. no change
39. A simple pendulum makes 20
oscillations in 40 sec. Calculate its
time period.
1. 1sac
2. 2sec
3. JIsec
4, 4sec
40. A mefer used for measuring the
distance moved by the vehicle :
1. speedometer :
2. odometer
3. ammeter
4. ohmmeter
41. Metals on reaction with adds produce
a "pop’ sound. This sound indicates
the presence of which gas?
1. oxygen
2. carbon dioxide
3. sulphur dioxide
4. hydrogen
CEERMAAFOT

36.

27,

3 8.

A9,

40,

4.1

st watw il ngac.carde  (Of =)
OrT R & P

1. R ofas

2. THizlFE ofaE

3. Pl ohas

4, TAfEE ofas

g urst # @ B I
Edt & 7

1. 3RS Esmarss

2. TR eSS

3., SHolIEH ETEEITHEE

4. Fofaferas sEdstaarss
s Fr=mr B STt
o= wEer s &y
=TT 2

1. 3=

2. ST

2. =

cargat & e Rensr 3o wa

‘GETE wiel W ITOeN wI 2
M 1= wmir e w2
ufRafa = 3w oy ==t

7

1. S

2. TEEHA EENTOATES
3. WTOE? SIETEATSS

d,

%
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42,

43,

45.

46.

The word's Fisstofl ivelliwas drilled in
which country?

India

Russia

U.S.A

China

oo

In an expenment 4.5 kg of a fuel was
completely bumt. The heat produced
was measured to be 1,80,000 IKJ.
Calculate the calorific value of the

fuel,

1. 40,000 K)/Kg

2. 50,000 Ki/kg

3. 100,000 KJfKg

4. 1,80,000 KJ/Kg

The loudness of sound depends on:

1. Frequency

2. Amplitude

3. Wavelength

4,  Velocity

If the radius of curvature of a
spherical mirror is 20 cm, what is its
focal length ?

1. Som

2. 10cm

3. 20cm

4. 30com

Light enters from air into a glass
plate having refractive index 1.50.
What is the speed of light in glass
(m/s). The speed of light in air is

3X10°m/s.
1. 05x10°
2. " 10

3. 2X10°
4 3X10°

DSk Sy LT

43,

il

1,80,000 KJ
a1 duw = =meflm AW @

G|

1. 40,000 KI¥G
2. 50,000 K¥G
3. 1,00,000 KYKG
4. 1,880,000 KVXG

BN
e
?
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47, What \Wwwiedasamiiéetial unit of

electrical energy?
1. Kwh

2. Wh

3. K

4, ]

48. An electric bulb draws a curent of
0.25A for 20 minutes. Calculate the
amount of electric charge that flows

through the circuit.
1. 100C
2. 200C
3. 300C
4. 400C

49, A person having 2 myopic eye usas a
concave lens of focal length 50 cm.
What is the power of the lens?

1. 2D
S
32D
4, =5D

S0. Natural gas consists mainly of:

1. butane
2. methane
3. ethane
4, propane

£1. In & Daniel call the anode is made of:

1. Copper plate
2. Zinc plate
3. Carbon plate
4. Iron plate

52. Splitting of white light into seven
colours is called:

1. Reflection

2. Refraction

3. Polarization

4. Dispersion
DM TSI

4 7. Tagawesmil it N Seprd

T B P
KWh

fu ol P

48. THE Aga == 20 fhee #
0.25 A Tags =1 wEE ==
T FE uftenm & =RE #
variger e owrvs Reden
BT 7
1 100 C
2 200 C
3 300 C
Gt 400NC

40 Uw Fme oo 5w = o
SOt ofed T W el &
IFat oEns 50 AL E
cied @ &THAT B e |
Mo o
2, 2D
&S
4. 5D

50. Uiplas ey A sl ol

51.

o

BESAT WHEATT £
1. Wit

2. Oddel

3. HET

4. Termoter
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53."  WhichvwoiwRedfolilsingetis ‘& natural
fibre?
1. Silk
2.  Rayon
3. Nylon
4, Polyester
54. Objects falling towards the earth is an
example of ___ force,
1. Electrostatic
2.  Magnetic
3. Gravitational
4. Electromagnetic
55. Which is the comrect decreasing order
for different kinds of friction?
1, Statlc, sliding, rolling
2. . rolling, sliding, static
3.  static, rolling, sliding
4. rolling, static, sliding
6. What is Milk of magnesia used for?
1. Indigestion
2. Ant bite
3. Soll treatment
4. Factory wastes
5/. Which gas is responsible for the
greenhouse effect?
1. O
2. N
3. S0
4 COy
58. Which gas is produced due to
incomplete buming of fuels?
L 004
&+ 40
3. 50
4. SOy
CESAMTITUT

54,

55.

55.

56.

57.

IJud Brar B P

1. aares

2. Y& & mEd az
3 foredt Frfaseen
4. DaEft-amda
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59, What isvOrioPddasalai.Net 58. aNTyey. FefT#psc.com

1. . Skar 1. O
2. Constellation 2. ST
3. Planet B EA
4,  Sateliite S L

60. Which book keeps a record of all the 60.== =t geas wmeauss it

endangered species? T CIAT Gl Tt E 7
1. DOrigin of Species 1 %ﬁ"ﬁ"ﬁ Wt eafe
2. Yellow Data Book * e
3. ¥ =& g
3. Red Data Book 4 gt s g
L Green Data Book
61. The common preservative which 61.5fEm = g d=r & fw
reduces the moisture content to ynrr frn s awen @tE A
S ufrTelt uzref St ==Eh & A
inhibit the growth of bacteria is: @ e mTET X .
1. Vinegar 1. Pt
2.  Sugar 2. Hreft
3. Sodium benzoata 3. vftas Fetoe
4.  Edible oil 4. W AE

62. Where do energy capturing reactions 6 2. UeEeT dHedmwo pfisar 3% a=f =

of photosynthesis occur? araeiwer wEl gem & 7
1,  Plasma membrane 1. anflres Reeh
2, Cytoplasm 2. s ({4}
3. Stroma 3. emsy
: 4. Eemaifze
4. Thylakolds

63. The mechanism of uric acld excretlon 63.yamm #H JfYes ame ol

in nephron Is: o e -
1.  Diffusion 1. T

3 2,  TIAHTO
2. Osmosis 2
3. Ultrafiltration 4. oy

4. Secretion

64. Which part of the donor's eye is used 64, 3F0Ud = 37 ==a & IO A
for grafting in order to cure i A W oaw @ alEm
g _ q certain i
cases of blindness? %o A fser wimen
1. Retina 15 ﬁm
2. Lens 7
3 Cornea i wteien
' . Tl 3 eies
4. The entire eyeball :

eI http://www.trbtn psc.com/2014/02/r1r1nms-exam-study-mate rials.html



65. Mafor POAY SV NE world belong 6 5. Feme WY TR CO% e o

to ; Fee o & wediEe € 7
1. Leguminosae 1. ctogREt
2. Solanaceae 2. et
Crucifera 3. FHaww
4. sl

4, Gramineae

66. Which of the following blood pigments 66, 3@ @7 @ver wur dorns  (avis)

contain copper? qE T T=T ET
1. Haemoerythrin 1. ErEtie
2, Haemocyanin 2. EITETERET
3. Chlorocruorin 3, oIy e
4,  Haemoglobin 4. TEEEfeE
67. Swine flu is a: 67. 319 Uol, BlaT &
1.  Bacterial infection 1. W] HEHU
2. Fungal infection 2. TAEE! HiRHAT 3
3.  Viral Infaction 3. R Fimaor F
4. Al of the above 4. ST i
68. What does Nitrogen fixation mean? 68. FTSgiole (MO @ @
1. absarbing nitrogen  from T E 7
atmosphere . ATEHTSS H o ATggeE
2. converting nitrates to nitrogen aTaenfier @sze |
3. converting nitrogen Into ts 2. dERE W wiEgtes 3t
S ETa

usabie compounds

3. wEoeE % BN EganT
e AlaTes # s

4. 3JIUIERT H W HiE FAE

69. How many bones are there inthe skull &9.3=r aff =mdr #H foeger

4, none of thase

of a man ? shagai Enft € 2

1. 19 bones

2. 30 bones LSl e

3. 22 bones 2880 nHa

4, 10 bones S
4. 10 FEEZA

DESEM/TS/OUT http://www.trbtnpsc.com/2014/02/ggms-exam-study-materials.html



70. What iz\fwacBAtasedn - Oetile 7

1. Eqqgcell
2. Ovary
3. Pollen
4. Embryo
/1. The list price of a pen is Rs 160 and
a customer buys it for Rs 122.4D
after two successive discounts, The
first is 10% and the second is:
1. 18 %
2. 17 %
3. 16.5%
4. 15%
72, B
A
E
B i
2 C
In the above figure, ABCD is 3 square
and BCE is an equilateral wiangle,
what is the measure of angle DEC ?
s e
Al s
Shoge = NE
4. - 45®°
/3. The average age of two brothers is
13. It Is Increasad by 11 years when
their mother's age is also induded.
The age of the mother is:
1. 45 years
2. 46 years
3. 47 years
4. 48 years
CESAHTALIT

7 0. 3mos FHaEgr rETRpSEcpm

TI.

T2,

1. vz mifeeer

]
g

>
oE W = 3ifem #@ow 1s0
FU ¥ IR gEs I D
FEANT B & =@E 122.40
=aU & Shedl &) = usef
B 10 uias aft 2 oar eI
22 Rl -
1. 18%
L 17%
3. 16%
4. 15%
B
A
E
"
_‘F'_F._._,_,.r-"""r -
D
C

=fe ABCD D =t 2 3T BCE
THag Begw 2 dar wior DeEC
o A -
il il
2. 30
i e
4. 45

7a_Zr ATl @1 3 W Sftma 13

21 o= =2t ang & @ =

Ar\a 11 a3t @ = B o=
G )

1. 45 ad

2. 46 T

3. 47 T

4. 48 T
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74, If a ‘YWhergadmalohNeibe have the
same surface area then the ratio of
diameter of sphere to edge of cube
5
1, ~..|"E = ﬁ
2. -u'?: ,,n'E
Farrriey]

4. . 1:2

75. The speed of a train is 64.8 kmph. If
its length is 540 m, then how long
will it take to cross a man standing
on a platform?

1. 20 seconds
2. 25 seconds
3. 30 seconds
4.  Cannot be determined

/6. Ram can do a piece of wark In 40
days. He worked at it for 5 days,
then Shyam finished it in 21 days.
The number of days that Ram &
Shyam tzke together to finish the
work are:

1315
2. 14
35 13
4 10
7. g Fo ¥ o2, EI_BJH-I.-
T 11 I3 i
then the valus of 'm’ is;
1. 6
2. —b
gt
6
g
(1]
DESEMTSTUT

T4, Tf PEWHSTENEOMT =5 U=

TE.

T

T,

el HHE SF Ol T & ST

Ud  EHE @ gen W S
= |

1, Jf6:4x

2, :-T:“J'E

ni e EH |

S i

T TOOmEl ¥ W 64.8
fEah. why der 2 =fe g
HeTE 540 L OB @ =mE
e UF TR =iae @ S e
T oret #F Reoaem awr ol P
1 20 IFHUE

2. 25 AHUg

3. 30 JAHUS

4. T g fiEEm o =

TH TH A O 40 B H
T Tl &1 39 ulm R
TH EaT) 39e =®E esAmA o
gF & 217 Bew # Fem) =@
TH 2T e U =R OETH
B o FPeaw e @ @
HATT BT |

15

1 4

o L Py =
i
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78 fﬂ -WFP:% adasalai.Net 78 '—MV_V‘j\ﬂ- bTypsc.com

1,5 18 S e
2. J7+3 2= ey
3. +3-7 i S
4. 7- ".E 4 T \E
74, i
E
2 s C a5
, |
A s A f 2 ;

In the above figure, AD = CD = BC oo o0 Torw of =of® AD=CD =
£BCE = 96°, how much is £DBC ? BC, <BCE = 05° =T <DBC =BT #I=
LT B ¢

2. B4° 1 7.l

3. &40 Tekan

4.  Cannot be determined e

4. @ =iEt BEEr e H=esan
g0, g8d.
A C A C

In the above figure, ED is parallel o o oo By & EDoNE ACH
the diameter AC of the drde, if TATEEET 1 mfE OBE = 65° &
£CBE = B5%, then what is the value ZDEC 7B i B -

of #DEC? Ba 350

| R L 2. &&5°

=]
4 25 =

OIS SRR TR http://www.trbtnpsc.com/2014/02/nggms-exam-study-materials.html



gl.

82

84,

DESARSNIOCLIT

If x +wwwPatlagngi Nt = b, then

1 1

F+F= 7
i :ﬂ};}ﬁa
oy
2. ”b
13
3. ”bz

4, None of these

Venu sold 250 chairs and had a gain
equal to the selling price of 50 chairs.
What is his profit percentage?

1 L

2. 20 %
CeRERLVI A

4,  None of these

Let Ax = -17 , By = 39, Cz = -12
Then the value of the expression
(A" + (By)' + (C2)' :

1. 74954

2. 7756

3. 7956

4. None of these

If 'x' Is an Integer, how many values
of x will give an integral value of

(t-ﬁ.'r‘+'."x+ 15] -

X
1. 2
Pl s
e

4,  None of these

Which of the following is true 7
1, 7¥=(73)

7, 3=y

3. 78« (7Y

4.  Mone of these

B1.3fe Xwhvy. FriErEpse.ogh= b, E1 o

o
X »
158
1 a’* - 3a
b]
5. al -3
b
3. a -3
bl

4, INdEE @ =

pz. gt & 250 SHREAT IaE W

so WAt & o Hqom &

AIEE ol g3 IWaW e
wicera == e P

1. =25 ufaenT

2. =20 ufasa

3. 10 utyem

4. Iudram mE

a3, a2 Ax=-17,Bym39,Czu-12 &

(R + (By)" + (C2)' &6T FTel BYOW

1. T954
2. TT8S
3. To56
4.

Fudrae wrg ol

d. 7% YUm yufms B oAt Y@

|
S mﬂ{lﬁx +?x+ﬁ]m %0
X
1 2
2 3
3 4

4. Zuiew =g FA

as. R A A B W adr &2

1. 7= (7y

2. ¥y
3 Py
4. T[T Teme B
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86. Whichwwanitmipsalthidlet following s
greatest ?
VT +43, 5 +45, Je+2
1. N7 +43
2. «E + «'E
3. 6 +2
4.  all are equal

87. How many zZeroes are there in the
productof 1 x2x3x4.49x50:
1. 1D
p SEN i
Jinct])
4. 13

BB. The mean of 20 items of a data is 5
and if each item is multiplied by 3,
then the mean will be:
| LEETe L
a7\ 10
5 I |
4. 20

89. The mean of 5 observations is 15. If
mean of the first three observations
is 14 and that of last three Is 17.
The third observation is:
1Pt i
2. 17
3 14
4, 18

90. 2460375 = 3375 x 729. Then cube
root of 2460375 is:
1. 729
PEERATS
3. 145
4. 125

DESEM ST

BG.

BT.

BB.

849,

90.

o=t WWEIT BErApEToaiTEas & 7
ST+, S+, f5+2
Nia ﬁ-!--q'ri

2. J5+45

3. 46 +2

4. waft ImaEs &

1 E I R e B e 49 x 50 =

1 10

PiEa 1

% e

413

20 UFEST @ HOE @1 FEE 5
B oOiE s w3 ¥ ogom
BT =he ff e S

L

2.+10

=R

4. 2D

15 WEUT @ HMET 5 E1 e

UES 3 W& W AT 14 e
ifew 3 = AMET 17 BOAT
AMHT UEroT &7 Fer SO -

15

17

14

18

s B D

2460375 = 3375 x 729 % @
2460375 =1 a=wE Bwm

| el
4. 3375
145
4. 135
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